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MATHEMATICS SSC-i
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Science Group)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/ D. Each part carries one mark.

(i) Product of [x _v]{ 2& is:

A. [2v+ v] B. [x-2y] C. [2x ] D. {x+2y]
{ii) Imaginary part of —i{3/+2) is:

A -2 B. 2 C. 3 D. -3
(iif) Logarithm of any number to itself as base is:

A 1 B. 0 C. -1 D. 10

A 7 B -7 C -1 D 1
(v) f o pze R z<Othen x <y =
A XDz B. R Vegac bl C. XL ¥z D. None of these
(viy What should be added to complete the square of +" + 64 7?
A 8 B. ~8x° C. 1647 D. 4y
{vii} if {x, ) =(0, vithen (x, v)is:
A (0.1) B. (L&) C. (0, D. (1.h
{viii) Distance between points (0.0) and (1,0)is:
A. 0 B. 1 o J2 D. 2
{ix) If one angle of a right triangle is of , then hypotenuse is twice as tong as the side
opposite to the angle.
A 207 B. 435" C. 307 D. 10¢
(x) Which of the following sets of the lengths can be the lengths of the sides of a right triangle”
A 1,2.3 B. 3.4.7 C. 5.0,7 D. 512,13
(xi) The medians of a triangle cut each other in the ratio:
A 4:1] B. 3:1 C 201 D. 1:1
{xii) If three altitudes of a triangle are congruent, then the triangie is:
A Equilateral B. Right angied  C. Isosceles D. Acute
[ BT 3
(i) w= ___is a solution of the inequality —= =X "7
A S B 3 c. 0 D. =

(xiv) HCFof « -bhand a’ —b’is.
A, a—h B. G+ b C. a +ab+b D at —ab v b*

(xv)  The square rootofu” —2u~1 is:
Al Ha+1) B. Hea—1) C. a | D. a+1
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Time allowed: 2:40 Hours
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MATHEMATICS SSC-I
(Science Group)

Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log table will be provided on demand.

SECTION — B (Marks 36)
Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
(i) Two sides of a rectangle differ by 3.5 cm. Find the dimensions of the rectangle if its perimeter is 87 cm.
N . . ) 1
(i) Simplify and write your answer in the form of « + Ar: ) ‘_'—l_-_‘_
(24 3001 =1y
8 PN - }‘lu 2 ,3
(iif) Simplify: (1) s e
(9 i )( 3 )
. (0.67849.
(v)  Use log table to find the value of o
0.0234
(v) Prove that: log.” =log,"xlog "
i .
(vi) If x+— =3then find the vaiue of ¥ ¢ l—
Y X

Note:
Q.3

Q.4
Q5

Q.6
Q.7

(vii) Find HCF of x 4+ 3x" —l6x +12: x +x° —10x+8§
8l

(vii) Solve the inequality 0 < A 11 < 6

[ 13
{ix) Find the multiplicative inverse of 4 =! 5 0 ‘
- ) N N X+ 3
(x) Perform the indicated of operation and simplify:  —~ 5 .—lwf—
X+ 2 -
s J2 1
(x1) ' x :—r—\j-f:—w\/,j find the value of x+- -
NN RY
(xi)  Solvefor x and v (3+4/)  2Ax—yiy=x+1i
o I o
(xiii} Simplify .1 —— where 4~ -
A a1
foo P
(xiv) Use factorization to find the square root of { X+ J 4{ v J\ =0
L X X
. 2 1 1
(xv) Solve the equation ——-- - R

=1 xi! \ +1
(xvi)  The end point P of a ine segment f-’Q is (--3,6)and its mid point is (5,8} . Find the coordinates of

the end point Q.
(xvii)  Factorize x* - 48x -12x" - 64
(xviii)  For what value of ‘'m’ is the polynomial £’(x} = 42t =7y 46y - 3mexactly divisible by x + 2

SECTION — C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Prove that in a correspondence of two triangles, if three sides of one triangle are congruent to the

corresponding three sides of the other. then the two triangles are congruent.
Prove that any point equidistant from the end points of a line segment is on the right bisector of it

Prove that if the square of one side of a triangle is equal to the sum of the squares of the other two sides
then the triangle 1s a right angied triangle

Prove that triangles on equal bases and of equal altitudes are equal in area.

Construct the triangle ABC with measurements mAR = 4.5cm 7] BC =3 1em and mCA=520m .

Draw the bisectors of their angies and verify their concurrency.
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SECTION — A (Marks 15)

Time allowed: 20 Minutes (Science Group)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

201
) Order of transpose matrix of {0 l‘k is:
‘32
A 3Ix2 B. 2»3 C 1x3 D 3x1
(i) Real part of 2ab(i -+i') is
A 2ab B. ~2ab C. 2abi D. —2ubhi
(i) The relation y = log_ x implies:
A x=z B. 10 C. e D. 0
(iv) (\ﬁz + \/]—7){\/7 - \fl?) is equal to:
A (a—h) B. (a+b) C. {a+h) D. (a~h) .
(V) if a.he Rthenonly oneof a=hor a<hbora:>hb holdsis called:
A. Trichotomy property B. Transitive property
C. Additive property D. Multiplicative property
(vi) Find 'm’ so that x* + 4x + m is a complete square:
A 8 B. ~8 C. 4 D. 16
{vil) If y=2x+1.x=2thenyis
A 2 B. 3 C. 4 D. 5
iviil) A triangle having all sides different is.
A Isoceles B. Scalene C. Equilateral D. None of these
(ix) If one angle of a/an _ ___triangle is of 307, then hypotenuse is twice as long as the side opposite to
the angle.
A Right B. Equilateral  C. Isosceles D. Scalene
(x) Which of the following sets of lengths can be the lengths of the sides of a triangle?
A 2.3.5 B. 345 C 2.4.7 D. None of these
(xi) One angle on the base of an isosceles triangle is 30° . What is the measure of its vertical angle?
A 30¢ B. 60" C. 90" D. 1207
(xii) If two medians of a triangle are congruent then the triangle will be:
A Isosceles B. Equilateral C. Rightangled D Acute angled

(xin) x = 0is a solution of the inequality:
A x>0 B. 3x+5<0 C. x+2<0 D. x-2<90

(xiv) HCF of ¢’ +4" and at —ah+hlis
A. ath B. & —ab+b C. (a—bY D. a+ b

. 1 ,
(xv}  The square roct of x* +-— +2is:

X
) \ TR - o
A X x +l | B. t( x* -r-%). C. 1 xf—J D 4+ oxT = {
Lox \ Xt Lox | x )
For Examiner’s use only:
T
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MATHEMATICS SSC-I
(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log Table may be provided on demand.

SECTION — B (Marks 36}
Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)

i The length of a rectangle is four-times its width. The perimeter of the rectangle is 150cm. Find the

dimensicns of the rectangle {Use Cramer's Rule)

(1+z’)2

(i) Simplify; - and write your answer in the form a+ib.
(1-)
Sow b /o ‘\"5:4 LN
! ¢ | C
(il Show that . XLL- |« (‘] oy
[ CR u
LA xo .
(iv) Use log table to find the value of ¥/2.709 xJ/1.239
(v) Prove that log, (m") =nlog, m
(vi) If x"+)° += =78and xy+ yr+ zv = 59 then find the value of x -+ v+ z .

(vil'  Find LCMof 4(x' ~1) . 6(x" —x" —x +1)

(i)  Solve the inequality 3> X = |
-9 xT+67+9
T2
(x) Find the multiplicative inverse of 5 = T s ‘

R /‘ »\3
(xi) Ifx =243 find the values of v Land Lxlj _

X X
(xii) Solve for x and v: (23N x+yiy=4+1
(xii)  Find the values of m and ¢ by expressing 2x +3v—1=0in the form y =mx + ¢
. L A [ [
(xiv) Use factorization to find the square root of ~——x" - - xp+ -y
16 2 30
(xv)  Solvefor x: |v+2]-3=5-[yv+2l

(xvi)  Find the length of the diameter of the circle having centre at ("(-3,6) and passing through P(1,3).
{(xvily  Factorize x* —a” +2a—1

(xvii)  Factorize by factor theorem: x’ - 2x° - 5x 46
SECTION ~ C {Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. (3 x 8 =24)

2 \
. . A o d4x- 120 18 2¢°

{ix) Perform the indicated operation and simplify }' - !

Q.3  Prove that in any correspondence of two triangles, if one side and two angles of one triangle are congruent to the

corresponding side and angles of the other, then the triangles are congruent.

Q.4  Prove that any point on the right bisector of a line segment is equidistant from its end points.
Q.5  Prove thatin a right angled triangle, the square of the length of hypotenuse is equa! to the sum of the squares of
the lengths of the other two sides.
Q.6 Prove that triangles on the same base and of the same (i.e equal) altitudes are equal in area.
Q.7 Construct the triangle ABC with measurements: mAB =53cm . omaA =45 msB=30". Also draw the ‘

perpendicular bisectors of their sides and verify their concurrency.
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